












































































































Four types of inequality 2 6
X EG
X 76
x 76

On a number line

3 t 9
0 I 2 3 4

K 4 C
I i n i n s i
2 I 0 I 2 3 X

x 1
9 i P c

2 I 0 I 2 3 X

x 70
i t I i I

2 I 0 I 2 3 4

I 2642 9 i 9 I
2 I 0 I 2 3 4

Algebraic Inequalities

Inequalities and the Number Line














































































































Equation Inequality
2x 3 11 2x 3211

2x 11 3 2x C 11 3

2x 8 2x L 8

x E x E
2C 4 DC 24

Note that solving a linear inequality is
much the same as solving a linear equation
The answer is an inequality

Note that if an inequality is multiplied
or divided by a negative number the inequality
sign is reversed

es 2x 6

x E
x 3

Exercise

1 3 7717 2 5 1 L 31
32 717 7 52C C 31 1

32C 7 24 5K 30

x 77
x E

x 78 X C 6
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Inequality Regions

 



y y
text

y 2

y 7 2

yet x s

y ex


